50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

15SME62

2

)\( h Semester B.E. Degree Exammatlon, Jan./Feb. 2021

Computer Integrated Manufacturmg
\ Max Marks: 80

(06 Marks)
(04 Marks)

period. 4: '
i)Determine the productlon capacity of machine'
if)Calculate the’ utlhzatlon of machine in a week
iii) Determlne plant capacity when A = 90% and W = 80%. (06 Marks)

,»\u, OR 3 e

transfer. th work part from one station to ‘another station. (08 Marks)
An 8 statlon rotary indexing machme operates. With an"ﬁdeal cycle time of 20 sec. The
frequency of line stop occurrence,is' 0.06. stop/cycle on.an average. When a stop occurs it
takes an average of 3 min. to repair. Determine the followmg Ve

i) Average Production‘Time, Tp ii) Average Production Rate ;RP
iii) Line Efficiency, E vy iv) Proportlon of down tlme / (08 Marks)
Module-2,

List and explain any two functional areas of CAD System. . (08 Marks)
Explain the followmg ‘with suitable examples )

i) 2 D Transformations. ii)Translation P

iii) Rotation and Scaling iv)'€oncatenation = (08 Marks)

Kl % or (7

Usmgxwa block diagram or.flo hart explain the'lnformatlon flow in a retrieval — type
CAPP System € (08 Marks)

A {‘Llst “the various functlon performed b)@ productlon planning and control department.

$° (04 Marks)
Draw the flow chart of the MRP System and explain in brief. (04 Marks)
. /Module-3 :
What is FMS* and explain any one types of FMS. (06 Marks)
List the beneﬁts and apphcatlons of FMS. (04 Marks)
Explain AS/RS material handlmg system, in FMS. (06 Marks)
. OR
Explain different methods._o‘f line balancing. (09 Marks)
Briefly explain computerized line balancing. (07 Marks)
Module-4

Sketch and explam bas1c components of CNC. (06 Marks)
Differentiate between Manual Part Programming and Computer Assisted Part Programming.
(04 Marks)

Explam in bnef different types of statements used in APT language. (06 Marks)
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